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QUESTION 1

When using the user mode network stack with qemu, TCP and UDP connections work fine but ping does not work. Why
is this? 

A. The Qemu user mode network stack does not implement ICMP. 

B. The problem is caused by incorrect routing. 

C. The Qemu user mode network stack blocks all ICMP traffic. 

D. The Qemu user mode network stack requires explicit permission for ping to work. 

Correct Answer: A 

 

QUESTION 2

Which command will indicate whether a DRBD resource is a primary or secondary resource? 

A. drbdadm verify resource 

B. drbdadm list resource 

C. drbdadm cstate resource 

D. drbdadm role resource 

Correct Answer: D 

 

QUESTION 3

Which of the following statements are true of full virtualization? (Select THREE correct answers) 

A. Full virtualization has superior I/O performance through the emulated device drivers. 

B. Full virtualization is faster than paravirtualization. 

C. Full virtualization requires time and system resources for emulation. 

D. Full virtualization requires no modification to the Guest OS kernel. 

E. Full virtualization works through CPU emulation. 

Correct Answer: CDE 

 

QUESTION 4

What is the name of the kernel module that is required to be loaded in order to use KVM on an Intel CPU architecture?
(Specify the module name with NO path information and with or without the module suffix) Your Response: 
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Correct Answer: kvm-intel.ko kvm-intel 

 

 

QUESTION 5

Which one of the following should NOT be used as a lowlevel device for DRBD? 

A. A LVM logical volume 

B. A physical hard disk 

C. A EVMS volume 

D. A loop device 

Correct Answer: D 
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